RERAT

FATREM TOREERANoDIZEHEATTHHEIOIRG (FH2FE)

READERZTT S Kig~DERZXT S KBADKEEYIZH TS
ﬁ@ SHEATITHEHE SHEAFTHEE EMEATITHEHE
LGk MXETH & (10°m°/4E) MXETH & (10°L/4E) mXETH & (10°L/4F)
1 s 30,132,829| 5 297,396 F#mh 34,754,245
2 |EEBH 12,467,110\ E#eh 201 547|R&AR TR X 1,910,093
3 |=iEm 6,510,452 | FR&B TR X 142,535) = & 1,221,194
4 |FRHEZ™ 5,429,388 4% &R 66,097 |48 Z£ ZBFN R ET 854,160
5 |FAah 4,196,820 =& 61,850 R @R 728,993
6 |&mEH 3,680,315 KRR 48,7301 5T 663,525
7 |R#HEX 3,639,382 RABTHIKR X 26,459 = FHE T 605,537
8 |#&&R 3,239,236 #0 5L AR #E ZE AT 10,790 FREBHRE X 378911
9 |/\iEH 2,652,831 & 6,046 % &R 223,493
10 | Z 3NBEBK L BT 1,647,256 A& 3,999| & fEth 158,667
11 |Efh 1,269,413 46 2 ERFORET 3,712|FATh 132,202
12 |REABmERK 1,191,738| A 1,810) 51 &R 5 1 Er BT 115,387
13 |f@%nlh 1,057,573 /\ & 640] A tH AR A {1 LI ET 66,323
14 |R#ATRRRE 857,368 5 #5188 5 51 EF AT 477|f@%NL T 65,336
15 |REBHTTRE 736,667|f@%01LTH 428| tHZE BB A ZERT 62,913
16 | At ER A fHILLET 385,158| REATARK 277\ & 22,977
17 | AR AR ET 287,887 e FH BB IR £ AT 237|RENITH 8,578
18 |REAHERX 217,781| At 2R A {1 LI BT 224|@fm 8,106
19 |R=FHEm 189,024 %= AR =& H IR BT 207|REHARK 7,167
20 |REHERK 188,524 201 | a3+ AR 3= FHRET 4,839
21 |REERES 167,846 A2 )T 161| 8% = A0 54 H R AT 4,802
22 |B=EF a2 HIRET 137,189 R @A 39|RATH 209
23 |R&RFHILERX 132,734) 5 S ER(FARET 3| 5B ER R IR AT 2
24 |R&EHILX M I2|RETH A RX O FR&P T £ R X 0
25 |[mBm 39,892 Z &I AR K LU & BT of;R &R £ RIX 0
26 |tHZEERFEEERT 32,351 | AR RILX ] B 1Y, i B 0
27 |RENH 25,367 AR T ILELX Of ;R &R IR ILX 0
28 | 5#ER 5 B Er T 14820l REBHT T IRX of ;R &R FIRX 0
29 |REHHRRERE 11,108| R&FH L RX 0| Z 311 BB K 1L 5 BT 0
30 |RE#HLREE 4,939 = ADHFHT O|R&THALX 0
31 |EEMRLEX 2,684|REHHEREE Oz = &R H AT 0
32 |B=EBHFHT 1,900 REHEREX ojm B 0
33 | 5-HEBFRARET 7|mABTT of R &R L X 0
34 |AEZERFORET O|FR&R ML X O R&p i IR X 0
1/1

EZEE . TR —HES

EIRIRERY AT LB AR




